[image: image1.png]Tt is 2007, and you are trying to figure out the humen capital differential
between Hervard and all other colleges that you can attend starting that year,
Assume for a moment tha the average minarity student can expect the first
tvo years of enrollment at Harvard University to be covered by scholarships,
while their Coucasian cohorts are nat. The expense for both groups in years 3
and 4 will be the same. Meanwhile, the follawing information applies:

Harvard tuition: $39,450 per annum
Tuition growth rate: 8.5% per ansum.

Expected time until gradustion (minorities and whites): 4 years

Average selary upon graduation in 2007 (whites): $54.000

Aversage salary growth rate (whites): 3.5% per annum

Average salary upon graduation in 2007 (minorifies): $46,500

Average salary growth rate (ninorliies): 4% per annum

Average callege tition in 2007 (1l ather colleges): 11,450 per annum
Average tuition growth rate (all other colleges): 6.5%

Average "07 salary for non-Harvard college grads =1 22 (whites): $37,750
Average salary growth rate for non-Harvard college grads (whites): 3.2%
Average 07 salary for non-Harvard college grads a1 22 (minorities): $31,200
Average salary growth rate for non-Harvard college grads (whites): 2.9%

@ Please figure out the returm on human capital for both minorities and
whites in this particular scenerio, using the Becker model. Is there &
‘human capital premium? Are there noticeable discrimination patterns in
these retums? (4 poinis)

b 1f the entire population was forced 1o go to college and graduate, and the
‘market rate of return for investments was 10% per anmum for the next
Dalf-century, whet does Becker tell us we should do, given the results you
have calculated? (4 poinis}




